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Word Study

A Circle the word which does not come from the same root as the others.
1 ambiguous actor retroactive prohibit

2 acquisitive quibble inquiry unquestionably

3 signify assignment seal satisfaction

4 behave able cohabit inhibit
5

jungle adjudicate misjudge injudicious

B Fill in the word or phrase from the list below to complete each sentence.
assets habeas corpus inquest irrevocable quorum

1 An will investigate the fatal accident.

2 What is required for a ? If there are not enough
members, we will not be able to conduct business.

3 A writ of will require the defendant to appear.

4 If he refuses, contact the bank and seize his

5 You may want to pause a moment before you make such an
decision.
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